Name: Date: Period: Unit 1-Review
Vocabulary

Constraints: The inequalities contained in the problem

Continuous data: Data that has an infinite number of possible values within a selected range (measurable) .
Diserete data: Data that has o finite or limited number of possible values (countable).

Domain: The set of x-coordinates of the set of points on a graph. The input value in a function or relation.
Feasible region: The solution (o the set of constraints.

Funetion notation: An equation written using f1x) o mean the finction Whose input i x

Literal equations: An equation that has more than one variable and where the values of the variables are known; can represent things like time,
distance, and slope.

Modeling using mathematics: An algebraic or graphical representation of a real world situation involving data,
Range: The y-coordinates of the set of points on a graph. The output value in & function o relation.
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13. Write the equation of a line that has a ﬁ]ﬂpl- of 3 and 14, Write the equation of a line that has a slope of 7 and
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15. \\ rite the equation of a line that passes through the 16. Write the equation of a line that passes through the
coordinates (1, 3) and l'% 7] coordinates (1, 3) and (3, 7).
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‘Word Problems: Solve and Graph

17. Lucy pays $211 in advance on her account at the athletic club. Each time she uses the club, §5 is deducted from the
account,

a.  Write a linear function that gives thy ue
remaining in her account after x visits to the chub

b. Find the value remaining in the account after 10
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©.  After how many visits did she have $96
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18. Billy plans to paint baskets. The paint costs $14.50. The baskets cost $7.25 each.
a.  Write an equation that gives the total cost as a

function of the number of baskets made.

5: 1450 +1.25x

b. Determine the cost of four baskets.

= M50 $728(

¢ If Billy spent $112 how many baskets did he make.

7= 14.50 +725%
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Convert the following uhfts Y

2.54cm =1 inch 2 cups = | pint

160z=1 b 8oz=1cup

5280 ft = | mile 454 grams =1 Ib

19. 432 ounces to pints 20. 1152 om to feet
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21. 65 oz to grams 22, 164 numrféel to y;mlsf‘ mile
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Exponential Growth and Decay

23. In 1985, there were 285 cell phone subscribers in the small town of Centerville. The number of subscribers increased

by 75% per year after 1985. ﬁ - P( ,‘h’) X
a. Complete the table

Ycar 0 1 2 3 4 5 6 7
moe 285 U | $72 15371 4,113 uun T1vke 14325
Users

b. Write an algebraic expression to model the situation

A255(175)°

How many cell phone subscribers warg in Centerville in 19947
= S 1 _
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24. Each year the local country club sponsors a tennis tournament. Play starts with 128 participants. During each round,
half of the players are eliminated. How many players remain after 5 rounds?

a. Complete the table ﬂ 5?(1' 9. e
Rounds 0 1 2 3
#of
mows (|2 | (o4 133 | I,

b. Write an algebraic expression to model the situation

P\: [2F (O-S)X

. How many cell phone subscribers were in Centerville in 19947







